lxy = vzl = / (vz = x2)? + [yl + 4/ (x2)?

D 2xy @ xy ® —xy @ —xz @—ny

~&B

xy <0 OB x 9y AR o2 Bgol1

tl

z
watA x o) o = AR e 257} i,
xy< 00| yz> 0022 xy—yz<0
yz> 00| xz<0°]|B2 yz—xz>0
Sy —yzl = A/ (vz — x2)? + |yl + /(x2)?
==Xy +YZ— YT+ XZ— Xy = X2
= —2xy




%

A
x5y
© A3
=

of o 2
o, o= F x o] ol 2 5 fle A2?

o &

= 4

@1 @ 2 ® 3 @)4

Sto] V20 7} 714 212 B4} 2 v, y o

B

VI20xy = /23 X3 X 5 X xy = 2+/30xy

xy =30

(x, y) = (1, 30), (2, 15), (3, 10), (5, 6),
(6, 5), (10, 3), (15, 2), (30, 1)




3. VB0 Ta=be @, 67 A HES S Y AL AAG a
SF 1019 58] T a + b FLE?

® 11 @ 12 @13 @ 14 ® 15

~EB ~
59 Bt 2 Al F4= 64,81,100,--- 0|22

59 4+ a = 64,81,100- - -

na=5,22,41,.--

wrebA 7HY 22 244 a = 5, b = V59 + 5 = 80|t}
La+b=5+8=13




V5 <x< VA B TESH A4 10 A5t 2709 ), o] A 4H
SHl ot A4 A £ 25 2 A7

s @9 @A @uA 612

V5 <x< VA& BESHE B x b2 A Hel R 4 < VA <5

ook SRR 16 < A < 25
A=17, 18 --- 23, 24, 25 ]2 9 Jjo|c},




FEAFad FE5Eb7ta>0,b>0 L o, Tt

5.

< 0
150 X |
A T°
T o
< 7_W s |

<k

Bk
A

i

5

a=2,b

v2 =
@ bva =2 f=5°1A

<

of
il

<

il
)




el
<+ M
= ol
,.Blb
T+

N
W
L
e
cE
=3

5 2+ 9 Aol
N EFE Va, 7t

= A
T T

6.

3 102

@ 100

@® 98

el

Qo J o
0 N

L

0 S T R

c.a+b =106




xom S(x) = f(1) + f(2) + fB) + -+ f(x)
H A< noll ste] §(n) 9] Zhel A7}

©) @ 50 )99

S (n)
(VAFT- R)
DOn=8¢%
@n=159 o,

+ (VI-V3) +




YA {

V3x—2V2y = -2
17 18
@® x 177\/_,y 178
® x 177‘/_,y 178
= — — 3
® x 7\/§,y -

V2x + \/§y=5\/6

=l

18 17
@ x=7\/§,y=7\/§

18 17
@= 7 By= V2

V2x+ 3y =5v6---Q
\/§x-2'\/§y:_2©
Ox2V2+Ox V3 2 5HH

42+2/6 y=20/3
+) 37-2V6y=—2/3
Tz =18/3

18
Lx=—1v3
X 7 V3

@oh:?«é%ww
4 34
57—2\/§y=—2, V2y = —

17
— 1\
y 7\/_




(VB+1)x=(4- V3)(V3+2)

(4- V3)(V3+2)
V3+1

_2v3+45
V341
_(2V3+5)(V3-1)

(V3+1)(V3-1)
_1+3V3

2

wtetA, VaTh =

= V2

N | o

+

| —




1 1 1

10. f(a)= Va+1+ va & ,m+m+-~+f(9)94gk—g:;s}

H?

—% @ -2 @\/ﬁ_g
@ V10- 5 ® VI0+ V5-2

fla) = Va+1+ +a 1A

1 1

@ " NarTe N I

1 1 1

E}E’rﬂi,m+f(—5)+---+179):«/5—2+«/6—\/5+---+
V10 - V9 = V10 -2




1

. o= Fmrm o™

Q) +F2)+F(3)++£(8) ] g7

@2 @ 3 @ 2v2-1
@ 2v2+1 ® 32




12.

N5 < x> 2 xol 7 ke Baer o,
\/5 o] ZFo. 1519
@ 3 @)4 ®5 @ 6

o] m, <

)

ﬁ

_|_

—_

< x>+ x o 7P 77he Ageoltt.
1<V2< /(15)2<2°B2 < V2>=1
(Fo1x A

=< v2(¥2-1) >

(V2+1)(V2-1)

V2(V2+1) N
(V2-1)(V2+1)
=<2-V2>+<2+ V2>
=1+3=4 (- 1< V2<15)

+ <




13. V143 9 g& a5k, Vb =1.105 € W, a,b 2] 32?2

T 0 1 2 3
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